Fall 2010 Middern T

[. Draw a Newman projection along the C3-C4 bond of the most stable conformation of 2,3,
3,4,4-pentamethyiheptane.
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2. What is the JTUPAC name of the following compound?
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3a. Draw both chair conformations of the following molecule. ' (16 points)
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3b. Use the data below to calculate the energy difference between the two chair conformers.
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4a. Label all acids and bases in the following reaction. {10 potnts)
4b. Which way does the reaction go — to the right or to the left? Justify your answer.
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5. What is the relationship between the following two molecules - identical, enantiomers,
diasteriomers, conformers, constitutional isomers, or unrelated? POLTILS
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6a. Givethe R or § configuration of all chiral centers in the following molecule. Clearly
number the priority of each group (1, 2, 3, 4). (14 points)
6b. Is the overall molecule chiral? YES
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7. What reagent or reagents are needed to accomplish the following reaction?
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8. Draw the product or products that form in the following reaction.
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9. Show the mechanism for the following reaction.
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10, Draw ALL of the products that form in the following reaction. Re sure to show the

STEREOCHEMISTRY of each product.
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